Олимпиадные задания школьного этапа Всероссийской олимпиады школьников по английскому языку для 7-8 классов (2012-2013 учебный год)
Раздел 1 (Чтение)
Установите соответствие между заголовками A-F и текстами 1-7. Занесите свои ответы в таблицу. Используйте каждую букву только один раз. В задании один заголовок лишний.
A.	Tomorrow's vegetables.          E. Unhealthy eating habits.
B.	Environment in danger.	F. East meets West.
С British traditional food.
D. Fast food.
1. Fast food and packaging come together. When you have eaten the beefburger, you throw away
the packaging and somebody will then burn or bury it. This is clearly a problem. Fast food also
contributes to global warming. In Brazil, 12 million acres of forest were cut down to build farms.
Farmers use this land to grow soya beans and soya is given to the cows that become the beef in your
beefburger. Fewer forests mean more global warming.
2. Traditional methods of cooking and eating are disappearing, and are being replaced by fast food
and ready-prepared meals. As a result, people today (especially children) have too much sugar, too
many sweet drinks, too much white bread. This makes people's level of blood glucose go up, causing
tiredness, nervousness and headaches. Among schoolchildren it can also cause low concentration and
bad behaviour.
3. Not many children like vegetables. It has been proved that eating vegetables in childhood helps
to protect you against serious illness in later life. So yesterday chocolate-flavoured carrots went on sale
in Britain as part of a campaign to encourage children to eat vegetables. The range of products also
includes cheese-and-onion flavoured cauliflower, pizza-flavoured sweeetcorn, and peas that taste like
chewing-gum.
4. People in Britain are more likely to eat fast food than to go out to eat in a restaurant. A
hamburger and French fries are the most popular fast-food meal in Britain, but not all fast food is
American. Kebab houses, run by Greek and Turkish, are also popular. An increasing number of people
eat convenience food in the evenings. Convenience meals are already cooked - all you have to do is
heat them up in the microwave.
5. Most British people, if they go out for a meal, go to their local Indian or Chinese restaurant.
There are 8,000 Indian restaurants in Great Britain. They serve food from India, Pakistan and
Bangladesh. Indian food is often vegetarian since most Indians eat little or no meat. Most Chinese
restaurants serve food, including steamed or deep-fried dumplings, with either savoury or sweet
fillings.
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Прочитайте текст и заполните пропуски 1-6 частями предложений, обозначенными буквами A-G. Одна из частей в списке A-G - лишняя. Занесите букву, обозначающую соответствующую часть предложения, в таблицу.
When you are in a lift, people will not look into your eyes. This is because when you are standing very close to someone, eye contact is very intimate.
Our eyes send signals to people all the time. They show(l)	. We can't always
control these eye signals. For example, if you like something your pupils will unconsciously dilate when
you look at it. We can hide these signals, however, (2)	.
People spend a lot of money on eye make up to make their eyes look bigger or more dramatic,
(3)	. Cartoon characters' eyes are very large. These large eyes make them look
more like children. Sharks, however, look very threatening (4)	.
Your eyes are very important, so your body protects them as much as possible. You have eyelids and
eyelashes (5)	. Your eyelids constantly wipe the eyeballs. You close your eyes
(6)	•
A.	because large eyes are more attractive.
B.	if we are angry, sad or worried.
С when something comes too near to them. D.if you don't wear contact lenses.
E.	so that dust won't fall into your eyes.
F.	because they have small eyes.
G.if we wear sunglasses.
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Прочитайте текст и выполните задания, обозначенные цифрами 1-7. В каждом задании обведите букву А, В, С или D, соответствующую выбранному Вами варианту ответа.
There are two addresses in London that the whole world knows. One is 10 Downing Street, where the Prime Minister lives. The other is Buckingham Palace. This famous palace, first built in 1703, is in the very centre of London.
It is two places, not one. It is a family house, where children play and grow up. It is also the place
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where presidents, kings, and politician go to meet the Queen.
Buckingham Palace is like a small town, with a police station, two post offices, a hospital, a bar, two sports clubs, a disco, a cinema and a swimming pool. There are 600 rooms and three miles of red carpet. Two men work full-time to look after the 300 clocks. Abou 700 people work in the Palace.
When the Queen gets up in the morning, seven people look after her. One starts her bath, one prepares her clothes, and one feed the Royal dogs. She has eight or nine dogs, and they sleep in their own bedroom near the Queen's bedroom. Two people bring her breakfast. She has coffee from Harrods, toast, and eggs. Every day for fifteen minutes, a piper plays Scottish music outside her room and the Queen reads The Times.
Every Tuesday evening, she meets the Prime Minister. They tall about world news and have a drink, perhaps a gin and tonic or a whisky.
When the Queen invites a lot of people for dinner, it takes three days to prepare the table and three days to do the washing-up. Everybody has five glasses: one for red wine, one for white wine, one for water, one for port, and one for liqueur. During the first am second courses, the Queen speaks to the person on her left and then she speaks to the person on her right for the rest of the meal. When the Queen finishes her food, everybody finishes, and it is timi for the next course!
1.	Buckingham Palace is not one place because it is
A) situated in 10 Downing Street.
B) the residence of the Prime Minister and the Queen.
C) the place where children grow up.
D) the residence and the place where important people meet the Queen.
2.	Buckingham Palace is like a small town because
A) there are 600 rooms in it.
B) there are a lot of different places in it.
C) about 700 people work in it.
D) there are two post offices and a hospital in it.
3.	When the Queen gets up in the morning
A) one person starts her bath, prepares her clothes, and feeds the dogs.
B) seven people take care of her.
C) seven people feed the Royal dogs.
D) two people look after her.
4.	Every day the Queen
A) takes her dogs out for a walk.
B) makes breakfast.
C) listens to music.
D) listens to Scottish music.
E) 
F) reads The Times newspaper.
G) receives the Prime Minister.
H) invites the Prime Minister to have meals.
I) invites the Prime Minister to go out for a drink.
6.	During a meal the Queen speaks to
A) the person on the left for the rest of the meal.
B) the person on the right for the first two courses.
C) all the guests.
D) the persons on the right and on the left.
7.	When the Queen finishes her meal
A) all the guests finish it, too.
B) she says goodbuy to the guests.
C) the guests start the next course.
D) the guests get up.
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Раздел 2 (лексико-грамматический тест)
1. Прочитайте предложения с пропусками и выберете правильный вариант ответа из трех предложенных. Обведите букву выбранного вами варианта ответа.
1. I'd like to take this new book. Has your sister read it... ?
a) for      b) just     c) yet
2. My friend hasn't rung.. .week,
a) last    b) since    c) this
3. They ... to London this year.
a) Moved   b) have moved c) had moved
4.	... Tom ... home when you saw him?
a) Has ...gone b) Did ...go c) Was ... doing
5. When I opened the door they ... a game,
a) Played b) were playing c) had played
6. Ann is ... child in her family.
7. 
7.	Where is ... post-office?
a) The nearest b) the next   c) nearer
8.	The problem was ... than we expected.
a) Seriouser b) as serious c) more serious
9.	Could you give me ... money, please?
a) Many   b) some   c) much 10.1 want to go ... on holidays. I think I'll go to Italy.
a) Nowhere b) anywhere c) somewhere 11 .Are there ... biscuits in the cupboard?
a) Any  b) no   c) some 12.George says that the mistake wasn't ....
a) Her   b) it   c) his
2. Прочитайте приведенный ниже текст с пропусками и выберете
правильный ответ из трех предложенных вариантов. Обведите номер выбранного вами варианта ответа.
I remember, I remember.
I am Jennifer Bradbury. I'd like to describe some of my earliest memories at school when I was young.
I think my first memories start when I was (1)... three or perhaps four years old. I remember (2)... from a tree and (3)... my arm. I think I was playing in the garden of the (4)..., old house we lived in. It was in the (5)... of London. I can also remember starting school when I was five. There was a little boy called Tomas in the same class. He used to pull my hair when the teacher (6)... looking. One day I hit him over the head with a book and he began to (7)... . The teacher was very very (8)... with me. I remember him saying, "Little girls don't do things (9)... that!" But Thomas (10)... pulled my hair again.
1. a) at	b) about	c) of
2. a) falling    b) flying	c) jumping
3. a) cutting   b) breaking	c) rising
4. a) huge      b) large	c) big
5. a) subway b) side	c) suburb
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6. a) isn't	b) wasn't	с) hadn't
7. a) cry	b) laugh	c) sing
8. a) glad	b) pleased	c) angry
9. a) as	b) like	c) than
10.	a) never      b) not	c) no
Раздел З (Письмо)
Обратите внимание на необходимость соблюдения указанного объема текста. Тексты недостаточного объема, а также часть текста, превышающая требуемый объем, не оцениваются.
Ты получил письмо от Ника, твоего друга по переписке, который пишет....
... In England most teenagers want to look fashionable or "cool". I wear T-shirts with American cartoon characters like the Simpson. Could you tell me what clothes teenagers in your country wear to be fashionable? What are the coolest things to wear right now? What do you think is uncool?
My latest news is that my parents and I have just come back from a trip to London...
Напишите Нику ответ, согласно правилам написания письма другу. Объем высказывания 80-100 слов. В своем письме:
· ответьте на вопросы Ника;
· задайте Нику 3 вопроса о его путешествии в Лондон.
· 
Answers
Reading (36 баллов) 1 задание (5 заданий по 2 балла, всего 10 баллов)
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2 задание (6 заданий по 2 балла, всего 12 баллов)
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3 задание (7 заданий по 2 балла, всего 14 баллов)
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Лексико-грамматический тест (34 баллов)
1. 12 заданий по 2 балла за каждый верный ответ, всего 24 баллов
1с, 2с, ЗЬ, 4с, 5Ь, 6а, 7а, 8с, 9Ь, Юс, 11с, 12с
2. 10 заданий по 1 баллу за каждый верный ответ, всего 10 баллов
1 about, 2 falling, 3 breaking, 4 big, 5 suburb, 6 wasn't, 7 cry, 8 angry, 9 like, 10 never
Writing (30 баллов)
содержание -10 баллов лексика - 5 баллов грамматика - 5 баллов организация -10 баллов
